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2 1,400

206 2| 139,844 0 139,844
= 69,922
= 20,977
2 48,945

01 WEHl 139,844 0 139,844
OX e 139,844,0002 139,844
= 69,922
= 20,977
2 48,945

402 Q12X 0|H 76,000 0 76,000
= 38,000
= 11,400
2 26,600

01 pIZTEEE 76,000 0 76,000
ONEE XATSHAL 76,000, 0002 76,000
= 38,000
= 11,400
2 26,600

ABIZOIY S 31,500 0 31,500
= 25,200
= 6,300

402 Q12X 0|H 31,500 0 31,500
= 25,200
= 6,300

01 pIAX=EE 31,500 0 31,500




SN EOIMETEA
I NOUXE (A - SAD|G/a -S4 gur)
2l A=A o Mg
_ _ HE
SN B CHRI(BIH) - MIBAR - B A are 01 &t o8 e
OASIEIIE AFEIREHl XI& 31,500, 000& 31,500
= 25,200
= 6,300
FHAUAGA 15,800 0 15,800
= 7,900
= 7,900
101 el24H| 15,800 0 15,800
= 7,900
= 7,900
04 JIZtMZ22XSE+ 15,800 0 15,800
OF LA EA 212 XI& 15,800, 000& 15,800
& 7,900
= 7,900
NRes(FUMEBTAA)(MSISX/IZHEEE) 650,674 785,504 A 134,830
LHEHHXI & 315,237 307,652 7,585
SSHIISEEAY EEIAHEES 315,237 307,652 7,585
701 JIEtI HE =3 315,237 307,652 7,585
01 JIEfSI HE &= 315,237 307,652 7,585
Ood=z=0II= 315,237,000& 315,237
EAHAXE (2202 EESAH) 315,237 307,652 7,585
SIS T LAY SEHIHNEEZ 315,237 307,652 7,585
308 AUXIHAMSOIA 315,237 307,652 7,585
05 AXIEHHMZ2REE= 315,237 307,652 7,585
OXRXHN2tREEZ 26,050,000& x12& 312,600
OAHZME S ZHIRES 219,750 +12& 2,637
BRIE(ASS0HII=SESAH) 20,200 20,200 0
FSPNES 20,200 20,200 0
802 vrat3a Il Et 20,200 20,200 0
01 = 1E2X3Ete= 4,000 4,000 0
O3 102Xz erezg 4,000,000& 4,000
02 Al - SHIEZZEHEZ 1,000 1,000 0
OAEHIEXZBES 1,000,000& 1,000
03 AeY=2s 15,200 15,200 0
OO0l Xt==g Bt 200,000& *13] 200
FHOIS= ¥ ==2d2H| &=
1,500,000& *102] 15,000




